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In the given matrix which option will replace 

the question mark.

दिए गए आव्यूह में कौन सा विकल्प प्रश्न चिह्न को 
प्रतिस्थावपि करेगा।

1)  12

2)  15

3)  7

4)  9

14 22 16

924 1716 864

11 13 ?
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Study the following carefully and answer the given questions.

तनम्नलिखिि का ध्यानपूिवक अध्ययन कीजिये और दिए गए प्रश्नों के 
उत्तर िीजिये।

Which region belongs to women who have done MCA but are 

not computer engineers?

कौन सा क्षेत्र उन मदहिाओ ंका है जिन्होंने एमसीए (MCA) ककया है 
िेककन कंप्यूटर इंिीतनयर नहीं हैं?

1)  4

2)  6

3)  12

4)  10
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Replace the question mark (?) with appropriate 

word from the following:

Cruel : Kind :: Lethargy : ?

तनम्नलिखिि में से प्रश्निािक चिन्ह (?) को उपयुक्ि 
शब्ि से प्रतिस्थावपि कीजिए 

कू्रर : ियाि ु:: ससु्िी : ?

1) Sharpness  /  कुशाग्रिा
2) Alertness  /  सिकव िा
3) Interest  /  दिििस्पी
4) Shrewdness  /  धूिविा
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Select the option that is related to the third letter-

cluster in the same way as the second letter-cluster 

is related to the first letter-cluster.

DUST : WFHG :: BASE : ?

उस विकल्प का ियन कीजिये िो िीसरे अक्षर-समूह से 
उसी प्रकार संबंचधि है िैसे िसूरा अक्षर-समूह पहिे अक्षर-
समूह से संबंचधि है।

DUST : WFHG :: BASE : ?

1) HZHE

2) YZHV

3) VHZY

4) DWES
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Select the correct mirror image of the given combination 

when the mirror is placed to its right side.

दिए गए संयोिन की सही िपवण छवि का ियन कीजिए िब 
िपवण को इसके िाईं और रिा िािा है। 

1) 2)

3) 4)
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3, 7, 15, 31, ___ , 127.

1)  61

2)  62

3)  63
4)  64
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The present age of father is 3 times and 3 years

more than his son. After 3 years the age of 

father will 2 times and 10 years more. The 

present age of father is.

वपिा की ििवमान आयु उसके पुत्र से 3 गनुा और 3
िर्व अचधक है। 3 िर्व बाि वपिा की आयु 2 गनुा और 
10 िर्व अचधक हो िाएगी। वपिा की ििवमान आयु 
ककिनी है?

1) 33
2) 30
3) 43
4) 23



The present age of father is 3 times and 3 years

more than his son. After 3 years the age of 

father will 2 times and 10 years more. The 

present age of father is.

वपिा की ििवमान आयु उसके पुत्र से 3 गनुा और 3
िर्व अचधक है। 3 िर्व बाि वपिा की आयु 2 गनुा और 
10 िर्व अचधक हो िाएगी। वपिा की ििवमान आयु 
ककिनी है?

1) 33
2) 30
3) 43
4) 23



How many triangle are there in the given 

figure?

िी गयी आकृति में ककिने त्रत्रभिु हैं?

1)  19

2)  20

3)  21

4)  22
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Select the odd word from the given 

alternatives.

दिए गए विकल्पों में से बेिोड़ शब्ि का ियन कीजिए।

1) Ampere  /  एम्पीयर
2) Kelvin  /  केजल्िन 
3) Candela  /  कैन्डिेा
4) Dyne  /  डायन
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Manish started from point P and walked 18 km towards 

north and reached at point Q. He then took left turn and 

walked 5 km and reach at point R. Again he took left turn 

and walked 5 km and reached at point S. Again take a left 

turn and walked 5 km and reached at point T. How far is 

he from point P to point T?

मनीर् त्रबिं ुP से शुरू करिा है और उत्तर की ओर 18 ककमी 
िििा है और त्रबिं ुQ पर पहंुििा है। किर िह बाएं मुड़िा है और 
5 ककमी िििा है और त्रबिं ुR पर पहंुििा है। िह किर से बाएं 
मुड़िा है और 5 ककमी िििा है और त्रबिं ुS पर पहंुििा है। पुन: 
िह बाएं मुड़िा है और 5 ककमीिििा है और त्रबिं ुT पर पहंुििा 
है। िह त्रबिं ुP से त्रबिं ुT िक ककिनी िरूी पर है?

1) 5 km  /  5 ककमी 
2) 13 km  /  13 ककमी
3) 18 km  /  18 ककमी
4) 23 km  /  23 ककमी
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If 'JASMINE' is written as 'TKCWSXO', how 

can 'LOTUS' be written in that code?

यदि 'JASMINE' को 'TKCWSXO' के रूप में लििा
िािा है, िो उस कूट में 'LOTUS' को ककस प्रकार 
लििा िा सकिा है?

1) VYDEC

2) VZCDE

3) VXCED

4) VZEDC
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A paper is folded and cut as shown in the following figure. How 

will it appear when unfolded?
एक कागि को उस प्रकार मोड़ा और काटा िािा है िसैा कक तनम्न 
आकृति में िशावया गया है। िोिने पर यह कैसे दििाई िेगा?

1) 2)

3) 4)
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Which answer figure will complete the pattern in the following 

question figure?
तनम्नलिखिि प्रश्न आकृति में कौन सी उत्तर आकृति अनुरूप को पूणव 
करेगी?

1) 2)

3) 4)
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From the given answer figures, select the one in which the 

question figure is hidden/embedded.(Rotation is not allowed)
िी गई उत्तर आकृतियों में से, उस आकृति का ियन कीजिये जिसमें प्रश्न 
आकृति तनदहि/ तछपी है (घूणवन की अनुमति नहीं है)

1) 2)

3) 4)
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Arrange the given words in the sequence in which they 

occur in the dictionary.

1. Kingdom 2. Kingly          

3. Kingfisher 4. Kirk

5. Kindle

दिए गए शब्िों को शब्िकोश क्रम के अनुसार व्यिजस्थि कीजिये।

1. Kingdom 2. Kingly

3. Kingfisher 4. Kirk

5. Kindle

1)  5, 1, 4, 2, 3

2)  5, 1, 4, 3, 2

3)  5, 1, 3, 4, 2
4)  5, 1, 3, 2, 4
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In a group of five girls, Komal is the shortest while 

Lisa is the tallest. Rohini is taller than Komal but 

shorter than Veena. Priya is the second shortest 

person girl in the group. Who is the second tallest 

girl in the group?

पांि िड़ककयों के एक समूह में, कोमि सबसे छोटी है 
िबकक लिसा सबसे िंबी है। रोदहणी, कोमि से िंबी है 
िेककन िीणा से छोटी है। वप्रया समूह में िसूरी सबसे छोटी 
िड़की है। समूह में िसूरी सबसे िंबी िड़की कौन है?

1) Veena /  िीणा
2) Lisa  /  लिसा
3) Rohini /  रोदहणी
4) Priya /  वप्रया
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If 17th Dec, 1982 falls on Saturday, what day of 

the week will 20th Dec, 1984 fall on?

यदि 17 दिसम्बर 1982 को शतनिार था, िो 20
दिसम्बर 1984 को सप्िाह का कौन सा दिन होगा?

1) Friday  /  शुक्रिार
2) Sunday  /  रवििार
3) Monday  /  सोमिार
4) Tuesday  /  मगंििार
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E is the son of C. D is the husband of C. B and G 

is the only brother and daughter of D 

respectively. F is the maternal aunt of E and G. 

How is B related to E?

E, C का पुत्र है। D, C का पति है। B और G क्रमशः D 

का इकिौिा भाई और पुत्री है। F, E और G की मौसी 
है। B, E से ककस प्रकार सबंंचधि है?

1) Uncle  /  अकंि
2) Nephew  /  भिीिा
3) Niece  /  भांिी
4) Aunt  /  िािी
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Choose the number that can replace the 

question mark (?) in the following series:

3, 7, 16, 35, ?, 153

तनम्न श्ृंििा में प्रश्न चिन्ह (?) को प्रतिस्थावपि कर 
सकने िािी संख्या का ियन कीजिए:

3, 7, 16, 35, ?, 153

1) 69
2) 84
3) 74
4) 73
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In a certain code language '+' represents '×',  '÷' 

represents '+', '-' represents '÷' and '×' represents '-' does, 

Find out the answer to the following question.

12 - 9 + 3 ÷ 10 × 5 = ?

एक तनजश्िि कूट भार्ा में '+', '×' का प्रतितनचधत्ि करिा है, '÷', 
'+' का प्रतितनचधत्ि करिा है, '-', '÷' का प्रतितनचधत्ि करिा है 
और '×', '-' का प्रतितनचधत्ि करिा है, तनम्नलिखिि प्रश्न का उत्तर 
ज्ञाि कीजिये।

12 - 9 + 3 ÷ 10 × 5 = ?

1)  25
2)  17
3)  9
4)  14
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Statements

All ice are water.

Some water are juice.

Conclusions

I. Some juice are not water.

II. Some juice can be ice.

कथन:
सभी बिव  पानी हैं।
कुछ पानी िसू हैं।

तनष्कर्व:
I. कुछ िसू पानी नहीं हैं।
II. कुछ िसू बिव  हो सकिे हैं।

1) Only I follows  /  केिि I अनुसरण करिा है।
2) Only II follows  /  केिि II अनुसरण करिा है।
3) Both I and II follow  /  I और II िोनों अनुसरण करिे हैं।
4) None follows  /  कोई अनुसरण नहीं करिा है।
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In a certain code language, STAR is written as 

1819017 and PLANET is written as 1511013419. 

How will MOON be written as in that language?

एक तनजश्िि कूट भार्ा में, STAR को 1819017 और 
PLANET को 1511013419 के रूप में लििा िािा 
है। उस कूट भार्ा में MOON को ककस प्रकार लििा 
िायेगा?

1)  12131314
2)  12131414
3)  12141413
4)  13121414
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Which of the cubes from the given options can be made from 

the given sheet of paper?

दिए गए विकल्पों में से कौन सा घन कागज़ की िी गई शीट से से 
बनाया िा सकिा है?

1) 2)

3) 4)
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